ET

; i ds for the year 2022,
Which of the following got the award for Best Documentary at the 70t National Film Awar y

declared in 2024 ? = .
(1)  Aattam (2)  Brahmastra (3) Kantara (4)  Murmurs of the Jungl

% Fotrd e
800 O 2024 6° (HEB0DS 70 erbad SuSOE wagedt, 2022 $oSETIE M aFH oy %
08$e D8 ? \
1) ogo @ @y ) B) srorrs )

During the Indian Prime Minister’s visit to Singapore in September 2024, MoUs were igned between two coun
in the following areas : X

6508y 6 & eord

A, Bio-technology B/_) Digital technologies
C  Health and medicine D, ‘,} “ Semiconductors
Choose the correct answer : mtzng

(1)  AB,CandD (2 A, BandConly

()  AandDonly (49 B,CandDonly.

Roab 2024 &, gr58 (H67S S0 BoKgrE SE506° grifomr ath B S5l & 8o Borres® eSmIS
ed)omren OB :

A o&rBsmod B.  &awd Benodew

C w8 ®baw 3o D.  Boge

%D T DoHE sy ; 00

() A B,C0cD @M A Baobas Caimesy

() A0 DS (4): B, C 5560 D (5

The capital of which of the following is renaméd'ég; ‘Sri Vijaya Puram’ ?

(1)  SriLanka- (2)) Bali Islands

()  Andaman and Nicobar Islands @) ‘ Lakshadweep Islands

& 808 86" 3D Tragrd SR ‘6 Dt 90" > 536 FEEGEO F ?
(1) Eoox (;2) &rd bxdren

B) ©oKSEPS LB J&8erE Exdren @  oghS Sgdren

Government of India started a new “Technology Security Initiative’ (TSI) to strengthen strategic partnership with
which of the following countries ?

(1) The United Kingdom (2)  The United States

(3) Japan- (4)_) Australia

808 =86%) o d¥ost Ty wﬁ%&ﬁg&g ‘ﬁ'zé’s‘foéo BoHee08 grEs (Bgheko &8 FoTBE e 8
(Technology Security Initiative - TSI) & @60@9&;06 ?

(1) cIBE BoRto . ()~ o388 {5

@) . =>§ e @y eRoa

The Indian International Maritime Dispute Reéo'"'l:lﬁion Centre (IIMDRC) was launched at :

(1) Goa (2)  Cochin- . (3 Porbandar (4)  Visakhapatnam
oot iTow) ©oSTPEADH HES Dt 508 oo (IMDRC) a8 (FBodoSolosd :

1) Al 2 &S 3) %Goud @) Ddewdeyo

X 2




Europe Economic Corridor (IMEC) :

6. Consider the following statements about the India Middle East-
orridor connecting

A.  Ttcomprises of an Eastern Corridor connecting India to the Gulf region and a Northern C

the Gulf region to Europe. < RS
B.  Itwillinclude air routes along with road t:ansport routes only. BYSTE0SE ;
Choose the correct answer :
(1)  Aonly 2) Bonly JJ @) BothAandB (4 Neither AnorB-

2080 DAS KF-AwrsS S 50w ([MEC) % Bowood Bob gL (faroim :

A =b gr5SdeQ) KS) (@roels 0D &&3&?@8 B0 KE) [EroTe drESSD wssogrso Bo 688
SBEE EON a8. g ‘)

B. @b J5rd Sroped® o 5% Sarer a’m:w#» Sl EOA @otnod.

JBS esrend DotHE AW :

1) ASHSD (2 BIrED () ASBAoBBokr (4) ADHBdmBOoLr )
7. A mock drill termed as ‘Vishanu Yuddh Abhyas’ was conducted at Ajmer in Rajasthan in September 2024. This
was meant for :
(1) Combating floods (2)  Cyber war preparedness
(3) Biological warfare preparedness (4) Pandemic preparedness -
BB 201 6 raEED odE Ve i e o o8 578 B5S Mo, ab B8 JomofeDod :
1) SBB0wH T (i) 3 26 asorg Soiss
@) &5 awyg odgs (4); y S03eEOD adad)g,;% Bodgs
8. Wm:/h of the following countries has comp]eted 1(3 ﬁrst nuclear power plant known as ‘Barakah Nuclear Energy
Plant’ ? o
(1)  The United Arab Emirates (5;_. | Saudi Arabia
3) Iran - (@)1 Bahrain
(Bod D B¥o ‘DOS® e B VoY’ M bvéeog 8% oIS wen Dk SoprroeR 3783008 ?
(1) CIBE o885 N0 (2 *rb &BhHEe
() @S @) @508

9. Which of the following statements about‘Blind Eye’ is/are true ?

A.  ltisinnovated by a teenager from Telangana
B.  Itisrecognised by theimaGen Ventures as ‘ohe of the remarkable innovations.

< The innovator is the founder of “Allien InnOVahons
Choose the correct answer : — )

(1) AandBonly- 2 ABandC) (3) AandConly 4 Aonly
808 e’ B of @8 $ow0fod B/ a.‘f’.:.pﬁ?

A 63D Boorrnd BodS &8 a’)cﬁ)m&c‘o é:éaﬁ‘agd}

B. &9 asr@8 3036) (imaGen Ventures) a.,é loderten DS gy K80D08.

C &2 eI DODS eOHHe' FHHDH (founder).

8PN a0 Qo Koy

(1) ASBasBImSD (2 A B%Ba»C (B) AHBw CHrED @ ASeED

o X [ 3] P.T.0.
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;X;\;cl; of the following is not a planned outcome of the Telangana Global Artificial Intelligence (AI) Summit
(1) Uniting leading minds

(2)  Fostering an Independent ecosystem for mnovahon '

(3)  Collaboration and Investment
(4)  Responsible Al

80b 86° Boorre Fod 0% B (AI) Swor a:m;ﬁao 2024 @) BerhsagDS 0o N6 26 7

(1) (Seprsares SOAS (Hsngoe o S0’ )

) e E%0 SBold oSt S @‘6“):1*’06&0

B) DBHT SSeseBo HoBasn el

@) erggEeaiod §9 D (A

A new tick-born virus called ‘Wetland Virus’ has been discovered in :

(1) Bhutan (2  China. (3  Indonesia “
‘088 Jo J8F (Wetland Virus) re boéaﬁ a8 58 BE-585) BUTo s hfrayl

(1) gorerS @ 3 (3) moEEnd> 4 =OEFH

Where did the 13" Ministerial Conference of World Trade Organisation (WTO), 2024 take place ?

Ethiopia

(1)  Riyadh (20 Amman (3 Doha (4)  AbuDhabi -
(B0 eedesg & (\)Ot\) (World Trade Organisation) cﬁaoé&l?;a‘) Soolghe b"c\n SR o, 2024 %S 28RS ?
(1) 8ceE 2 57 s (‘:4) &t @4 o2

Which of the following statements related to the 1-6‘5 i’inance Commission is/are true ?
It was constituted in December, 2023 w1th Arvmd Panagariya as it's Chairman.

A

B. Ajay Narayan Jha was appointed as the secretary of the 16" Finance Commission.

C.  The recommendations of the 16 Finance Commrssnon covers a period of 5 years from April 2025 to
March 2030.

Choose the correct answer : L.

(1) Aonly (2) Bonly ‘(3 AandConly- 4 A,BandC *

16 &S esaé B05rd8 Howohod) (8od a‘;gméoé‘s B/ ey ?
@6&)05 Searedas® Bd&Sﬂ‘ &2025 2023 &° & B0 woP)en BaHsro sBA0d.

A
B. ead oroedhd 8rid 165 egé B05rR8 SeEEOT AadHoBo edhod.
C 16 5 esgé 50505 Darsoen DBS 2025 Krod Q) 2030 SBH Ko 5 SodEoreH HFow.

BO@os JSFGrTR) Do Bakesn :
(1) ASHSD (2 BImED (3) A 0805 C Sm(ED

Which of the following statements is/are true with regard to Jaya Varma Sinha ?
A.  She was appointed to the post of Chairperson and CEO of Railway Board in 2023.
B.  Sheis the first woman Chairperson of Raleay board.

Choose the correct answer : 5
(1) Aonly (2) Bonly p «;f@ A and B both (4) NeitherAnorB *
a3dir $8) T Sow0fod (BoB ar;ga)'goé" 2B/ b&) 23y ?

2023 6‘ & B8 6% PE5E)S $0an B SRRSO AAHWoSE0 wOACE.

@ A B®BaC

A
B 38 S &d Soimnss Hoire JESYS.

8B HETGERRR) DoKW ! '

(1) ASeED 2 B&r@dD () AOmBBoLr (4) AHBato BOolr 59

X [4]
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Which of the following statements are true in relation to the General Elections - 2024 to the Lok Sabha ?
A The election schedule was announced on 20" February 2024 by the Election Commission of India.
B.  The first phase of election was held on 19t April 2024.

C.  The voting in Telangana was held on 13th May 2024.

D. In this election, for the first time, vote from home facility was introduced to women.

Choose the correct answer : =

(1) A, CandDonly () A and Bonly

3 CandDonly (@)~ Band Conly -

2024 685385 FBYDE YLD Sowohod Bob #Smée)ée A edy ?

A gr5E Ao Sosho 20 HEHd 2024 T ARYEe WSS ([EB0DE.

B 19906 2024 Tt T DS HQSes dreow.

C 1332024 o Boorred® £80R $BACB,

D EnsBF0m & IS HietoH 208 ok Lo TS SHFArY) 5L

$BS SEPGERRRY DOBHE R :
(1) A, C&da D Soolg8aD 2) ABS BIeED
(@) C¥ban DIHED @) B0 CErED

In 2024, the President of India conferred Bharat Ratna awards to four famous Indians. Which one of the following
is not a recipient of the same ?
(1)  AtalBihari Vajpayee / (2 -M.S.Swaminathan

() Karpoori Thakur * " @ Chaudhary Charan Singh
2024 &° g5 ToRHB SentHtd (D30 a:ocsécﬁmggia;zsé 5%) oTgodH Beso Seoth. & 808 T08° e
K3 08 IS5 ? ot

(1) obs H56 EDa

(@) &mp wErb :

Who among the following was conferred with N!:aig;@)hyan Chand Khel Ratna Award, 2023 in badminton ?
(1)  Ojas Deotale (2)_=___:PV Sindhu -

(3)  Chirag Chandrashekhar Shetty (4) ~ Sheetal Devi

Bod 08° D508 20233 B05ERE ar;g&&oeoSeSG Db grgS Sob BS 88) o) aSiwo 8dhod ?
1) &Led A D8 @ 2.9 dogd

@) oo°h SolEseeb 38 @ 8853

Consider the following in relation to the Skill University in Telangana :

A.  Srini Raju has been appointed as the co-chairman of this University.
B.  The state government has appo
Choose the correct answer:

(1) BothAandB (2) Neither Anor B %
Beorrmst S crdses Sonosod 8od 6] | HOKBOHID :

A & cErQs0)E8 80 T 8-PYST DAHYOTD.

B. oo (g0 @Iwow o0l ERE 608 SO FYS ebLoDoS.

inted industridlist Anand Mahindra as the University Chairman.

e
-

@) Aonly @) Bonly.

RPN JSEGEeY) DoHESw i
(1) ABanBBose (2) A0 Bookr & (3) ASED @) BImSD

X [5] pro.
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20.
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The World Health Organisation (WHO) has approved thg use of an ‘mpox’ vaccine (MVA-BN), for the first time in
September 2024. Which of the following has developed it ?

(1)  Bavarian Nordic, a Danish pharmaceutical company

(2)  Belgian NOVO, a Belgian pharmaceutical company

(3)  Bharat Nuron, an Indian pharmaceutical comppany

4) Boston Nitric, an US pharmaceutical company,

%03 6B%; Sox (WHO) SnkRnus®rem 330082024 6° o8 05§y 857 (MVA-BN) (mpox vaccine)
©3r80008. & 80b B 5B 5D o3 3006 ?

(1)  @>0aHS 6, el IR FoyrdES K03 oaf(')

@) BYHS IS, &8 BYADS FoYKrBES K03 af) -

() 8 SrS, o RS FoPSRBES oD
@) %3S B, w8 US FoPrBES Sod

Which of the following statements about India Open Shooting Competitions 2024 held in Goa are correct?
A. Manideep Jetta secured two gold medals.

B.  C. Pranathi won one gold and one silver medals.

C. B.Shankar won one gold medal.

D: Arcita Karar earned gold medals in both the 10 m Air Pistol Junior Women Individual and Team categories.
Choose the correct answer :

(1) AandBonly (2) ~A;Band Conly

3) A,B,CandD (4) —A.andDonly -

808 s’ AFars® RS Bo8atr &2 ArBoR Sden 2024 % Jow0§OD FTID DD ?
A HIES Bep Doth @orrd HEFH ROTD
B C. (5638 28 2ormdd Bk el Sk aé?ﬁ&ﬂ@&)o&
C. B. %086 2.8 ot $85°R) ROT.
D.

©8)% 570°5 10 g dowb S aﬂ&)cﬁ:&i‘ﬁa‘@ $588 508050 &S Fonden ToBodS® worrds HELo

RO20B. =

028 a37rensd DoHE ok

(1) A0 BSrED (2 A B80Sy CEmEd
(3) A,B,C&08c»D 4 A0S D SrED

India launched it's National Blockchain Framework known as :
(1)  Vishvasya - Blockchain Technology Stack -
(2)  Samagra - Blockchain Technology Stack
(3)  Agastya - Blockchain Technology Stack «
(4)  Paripoorna - Blockchain Technology Stack

erBEBE0T (@ EodoslS erdch erE3S @oasgx» Fe® DO :
(1) DS - erE3S Beved &
(2 3 - &3S Bened ¥
(@) ok - enbaS Bsypd F§
@) $0°Y - epE3N Beved IE

24.

Which of the following features c:
the UN General Assembly in Ma

A.  Safe B.

Choose the correct answer :

(1) AandBonly

(3) CandDonly

g8 e (Artificial Intelliger
Assembly) &° s3ra0508S St
A 2v8so B.
<2 ééﬂ:vava‘l QOHE K0S :
(1) A BErSDH
(B) Cobcin DSrSH

Government of India launchec
induce behavioural changes re

(1)  Old-age-friendly lifestyl
(3)  Environment-friendly li
gP88 (Heheko & 8ob D (ISt
‘D8ArR48S’ (Ideas-4LiFE) &
M) Hoesss TSRS &5
@) Dot TS &
Who is the director of a documr
(1)  Nikhil Mahajan ~ (2)
o o - 2024 % XI¢
A5 ?

1) WESHFaS (2

Consider the following statem
A.  Indian Prime Minister

B. Russian President Vlad
the Apostle” on Naren

Choose the correct answer :
(1) Aonly - @
e 800 argmgo HBKBoWI
A oKy 20246° o888
B. grd8 1H5eQ 8o 3
©oEr & e PSS &
$38 aTrod JoHS B
1) ASHSD G

ET
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Which of the following features concerning Artificial Intelligence (AI) system figured in the resolution adopted in
the UN General Assembly in March 2024 ?

A.  Safe B. Secure G Honest « D.  Trustworthy
Choose the correct answer :

(1) AandBonly (2 A,BandConly *

(3 CandDonly 4 AB an%i D only

&0 5 (Artificial Intelligence) Hgde (Harto P 2024,5?@)6‘ ¥y $08 $L (BB %4 (General

Assembly) 6° eIrdoHES 502:6066 8od e)gmoée (features) D aIxow ?

A Bggo - B g¥o C RuFovd D X5Q5AS
$BS HEGRIR) DOLE L : P

(1) ABS» BEwED 2 AB :éo&cﬁ» C So( 83

() Cbain DSmSH @) A Boboko DErESH

Government of India launched ‘Ideas-4LiFE’ portal for inviting ideas related to products and services, which
induce behavioural changes related to :

(1)  Old-age-friendly lifestyles (2)  Corruption resisting lifestyles

(3)  Environment-friendly lifestyles (4)  Woman-friendly lifestyles

g (Hghdo & 8ob @ (BIBI® Srdyeis (20203 eéo)@gﬁé), % %0% H000dodS e SHen edRIoSHERE
‘0Br5-485" (Ideas-4LiFE) o3 SYSH (@r8o§odod ? ey

1) oy TS 45539 ) @;)i)a R)Sscsé 25530

B) Dot RIS E53530 @ éaasoafoa DYTETERE £553D
o ) se IMESIEN

Who is the director of a documentary feature film “To Kﬂl a T.lgel’ nominated for Oscar Award - 2024 7
(1)  Nikhil Mahajan  (2)  Kartiki Gonsalves (3) Ni'sha Pahuja (4) R.Mahadevan °*
o6 o) - 20245 WIS Bovads wexowd éoesaﬁéo ‘“» 868 858 (To Kill a Tiger) B SHHEH

A5 ?

(1) DS DS (2 =68 AR (@) ar Svey @) «b. IS

Consider the following statements :

A Indian Prime Minister made an official visit to Russia in August 2024.

B. Russian President Vladimir Putin conferred Russia’s highest civilian award, The “Order of Saint Andrew
the Apostle” on Narendra Modi, Prime Minister of India.

Choose the correct answer :

(1) Aonly* (2) Bonly
& 800 a5 H0KBoHA

A o 2024 &° 288 (HERd Hol® 651"566 28 @@Sﬂaé aéééozé Saed.

P68 (HEPQ $BolEs TréA), By O FOME 9365 55 wEgS T} HEFBo ‘e o $owods
®olr & @@5?05’55 $EPOTE. —

%8S esaenid DOHE Ko

(1) ASPED 2)

) :,‘Bdtih AandB (4 Neither AnorB

B.

B S5 (3) ADOAWBBoEr (4) A0 B Bokr )

X P.T.0.

BSY REND LN

U/ |

()




26.

27.

28.

ET

Arrange the former secretaries - General of the United Nations (UN) in chronological order of their term of office :

A Kofi Annan

C Javier Perez de Cuellar
Choose the correct answer :
1) _A,B.C.D )

D,BACT " (3

B. Ban Ki-moon
D. Boutros Boutros-Ghali

B,D,A,C @ CDAB"®

DEOeag BB dred JES S >0 5’362) o) 08 SPoEEPHIBoS® ety :

A 8% ORNS
c BIHE 1BS & Srs0b
VTS 83370 DoSHE K0S

f ]:3 e § WS
D, oo anestH-50d

1) ABCD @ DBAC- @ BDAC [ Chak
Match the following countries with their ranks as per medal tally in the Paris Olympics, 2024 :
Country Rank =
A.  China L First
B. The US.A. IL Second
C: Australia L Third
D France IV.  Fourth
V. Fifth

Choose the correct answer :
(1)  A-IV,B-I,C-II, D-V
(3)  A-LB-II,C-I,D-IV

_ @) AILBILCIV,D-V-
~(4)  AILBLCV,DI

FFOR 2.00DE) 2024 & FBoDS BHEse B :oovg @s*’éo 808 Torod T8 ToHes® a8dES08 :

3do
A B L
B. AP, R, . IL
C  oRoasr III.
D. @) V.
V.

8BS 2337208 DotHE S
(1)  A-IV,B-II,C-IIl, D-V
(3) A-I,B-II,C-I,D-IV

0% -
Bo(ﬁa’) j
SEST

TS
0 = %

083"

@  ALBILCIV,D-V
4  AJILBICV,DI

Consider the following statements in relation to G-7 :
A. Itisaformal grouping of wealthy western nations.
B. Ithas no permanent secretariat or legal status.

Choose the correct answer :
(1) Aonly
(3) Both AandB

"(2) Bonly
(4)  Neither AnorB «

2-7 & 3020509 (Bobd g SOKBoHL ;
A 2B 3003 Sanyds Beve erods Bwaro,
B. 638w 30recho 51, i :s%‘av R B,

BOGHN 2T JoHE KOS
(1) AsrEd
(B) AHBd5 BBokw

o @ Biesd
(4  ABowBBotr s

X
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32.

El

Consider the following statements in relation to the Bay of Bengal Initiative for Multisectoral Technical and

Economic Cooperation (BIMSTEC) :

A The 5% BIMSTEC Summit was held in virtual mode in 2020.
B. Atthe 5" Summit, the leaders adopted the BIMSTEC Charter
Choose the correct answer :

(1) Aonly (2)  Bonly (3) Both AandB+  (4) Neither AnorB

DFTVEB0N JPoSBE 5B ©BY Sedo E6% mon‘mwéo F65 (OHYE)H Sowofod 8od Tyl

HBNHoHAW :

A 535 DHYPE Bpo S0 2020 SosHBos® é&ﬁdm QErosniod.
B. 538 %mcv@ J5rB¥0s® DHYE wgbio @Ebv&soa"d) '
VB 2357720 DOoHE o :

1) ASEED 2) BSeEDH (3) _A®0anBlokr (4) AH0an B Bokr 59

Who is Narges Mohammadi ?

A.  Sheisan Egyptian human rights lawyer.

B. She was awarded Nobel Peace Prize in 2023.

Choose the correct answer :

(1) Aonly (2) Bonly (3 BothAandB- (4) Neither AnorB

$TS ISt A5G ?

A D a8 KHRY SIS T erS%6.

B. % 20236° FBS 3008 a50s ofodod.
805 2aeend Q080w :

(1) ASHED () B&wED @ °

: iﬁ)bcﬁ:o BOoXr (4) A8 BTOER s°)

Which of the following is not one of the main organs of the Umted Nations structure ?
(1)  The International Bank for Reconstruction and Development

(2)  The Economic and Social Council
(3)  The Trusteeship Council « o |
(4)  TheInternational Court of Justice -
808 B o¥Trayg S8 (G Dgrrrod® grifo SN0 56 ?
1) 2oLEISIS erso8 36 BESLES ©ok BSHHoES

2) ETDE wof ARS NS

@B) (RS TS

@) =@OLEIHSS %G o a0

Consider the following statements with regard to Ajay Banga;:
A He became the 10" President of the World Bank Gmup in 2022 for a 3 years term.

B.  He was conferred Padma Vibhushan award by the Presndent of India in 2021.

Choose the correct answer :
(1) Aonly (2) Bonlye (3) { Bo'th Aand B (4)  Neither AnorB

oad) porrd $onofod & 8ob a‘gaa?soéo $0KBoHEN ¥
A o8 3P0dETre serds D, 2022 &° (HH0S wgoé; (5% 10 S oo JaHEOETD.
B. gr88 oogHd o8 2021 &° 55 e @@6)85 :éégpoavéo

8B a0l JOSHEI |
1) ASHSD @) BSnED 3) Aé)@dﬁ» BBoXr (4) ASHB3Sn B Bokr 52

X [ 9| P.T.O.
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Consider the following two statements :
Assertion A : Rain water has a pH of 7.

ReasonR: CO, present in the atmosphere dissolves in rain water.
Choose the correct answer :

(1)  AistruebutRis false.

(3  Both A and R are true and R is the corrg_é:g;e_xplanaﬁon of A.
()  Aisfalse butRis true. 3}

(4)  Both A and R are true but R is not the cé; ect explanation of A. «
Bod Bo TIPSO HOKBOSOA : .

Vg0 Az 5855 58 pH Dewss 7.

SEniR: oEsRind®d CO, S b@q%?g&}&éaoa.

I 3Te0H oS ok - f“

(1)  AXB%8 s R DOTBH S0tk

(2 A8 RBoEw B BrBasw A Qs) HOTHS DHGes R.

B) AZDE6 st 09 R TSR

@) A8 RBokw VB =20 A Too¥) BOTS DS5Bes R 50,

In which of the following fields Padma Vibhushan Prof. C.R. Rao is known for his research contributions ?
A.  Mathematics B Statistics

C  Chemistry D.*. Materials Science
Choose the correct answer :

(1) AandB only e«

@ CandD only

()  A,BandConly {4 ABandD only

3 (80B TBS® D Borrest DY IR (2. §=g§ o) 88 3885550 oxo° @’)R)g Joedd ?
A Kcﬁéa‘@o Bs3 Kwoé@@o

G 6&0536@@0 D &% R0 (Materials Science)

JBS eszrendd QOHE K0S -

(1)  ABusBSmSSD C 5805w D S(53
(G) A BB C S 4) A B&dcin DSme$DH
Consider the following statements :

A.  Prithviis India’s first indigenously developed ballistic missile.
B. “Prithvi” missile was first tested in 1990.

C Defence Research and Development Organisation (DRDO) developed Prithyi missile under the Integrated
Guided Missile Development Programme,

Choose the correct answer :

P
(1) ABandC T2I" Band Conly
(3 AandBonly @) Aandconyy .
(Bod (BEe50 H6KBoSoR ('
A Blvor efp Savels crosdes Gnde DS 8568 o
B 19906 “4)8c” 856 Intsd o 368o%B808.

s
v 4
f "n..u"

Tyt

A

D08
JOGS 6&?@@&)& DEYE°Sol.
(1) ABBci»C 2 BBasw C o8
()  ADBcs B S @) ASBaswC Soo(&H

X
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What type of energy is stored in a rechargeable battery such as Li-ion battery ?

(1)  Mechanical (2)  Chemical (3) Nuclear (4)  Electrical ¢
Li-odsrS ergod H08 HIBRBRKSEIEAS ergtod6® O B8RS 48 Degiabathsod ?
(1) rol®¥ () DS @) &rgBawd @) D5x8
Match the following Vitamins with theircommon chemical names .

Vitamins Chemical names
A ViaminC L  FolicAdid
B. Vitamin M IL Cyanacobalamin
C. VitaminH M.  Ascorbic Acid
D. Vitamin By, IV.  Retinol

V.  Biotin

Choose the correct answer :
(1) AIIBI,CIV,D-V (2) A-I,B-V,C-I,D-I
(3) ALBILCID-Ve (4) A-I0,BIC-V,D-II
BoB DT T FPGee EIADS DYE® wBBESHDD.

DS BPeHS D
A DuSC L oSeko
B.  d&SM L 3c58%arons
C JuDSH I oFG5 eio
D. &S By, V. 385$

V. a&8788

%8S a0 D:ﬁ;ﬁso& -
(1)  A-ILBI,CIV,D-V . @) A-JLB-V,CII,DI
(3) A-JIBILCI,D-V 4)  A-I,BLCV,DII

The correct set of the primary air pollutants is :

A.  Carbon Monoxide (CO) B. Sulphur dioxide (SO,)
C.  Nitrogen (Ny) D.  Particulate Matter (PM)
Choose the correct answer :

(1) A,BandDonly (2 B,CandDonly

(3) CandDonly . (4 AandDonlye

(B s arcin SPevigEPEsPe B KOS VB :

A =8S 3ogE (CO) | B )8 BeR)E (SO,)

C =S, D e S0°%0 (Particulate Matter) (PM)
D% eES oSS B : -

1) A,B%BcS D S —— (2 B,C&0Bdn D &rEd
(@) C&oBasn D &w(Ed @)  A0cs D SeE

X [

|y e )
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The correct statements about UNEP (UNEP - United Nations Environment Programme) are :
A Its headquarters is in Nairobi, Kenya.

B. It works for finding solutions to the triple planetary crisis.

2 Ithas the representation only from 191 member states.
Choose the correct answer :

(1) AandC only (@3]
) BandC only 4)
AIBE I5F) Soeg8es S°EE0 (United
T DD ?

A 8D Koo SPogoaho Baxs’d 35TASE o, - ;
B 50 89S awb sogferon DO EHAEEO §%0 $ Bkob.
o 8ol 191 g Bzoe ool S @8¢50 aog;“f
W3S 277205 DoSHE Ko - At
1) A B C S
@)  BoBain Camg

Arrange the followin
A Herbivores

Aand Bonly °
A,Band C ‘
Nations Environment Programme - UNEP) 8 Sozofod 55@3:6

@ A8k B Se$D
@ ABSdanC

g in the correct order of energy flow in the biosphere :

B. Primary producers
c Detritus D.  Carnivores
E Sun
Choose the correct answer :
D ABCDE (@ EB,DAC B) EB.A D Ce 4 BACDE
Bod 09, dxrstmod® Ko SO@DS 48 (DY o Saess o808,
A TS5 (Herbivores) B.

(@Y a&)Breten (Primary producers)

C  gdus (Detritus) D. é}voﬁxﬁ@m (Carnivores)

E: Qe85 (Sun)
ETo N SEreraed) D5sol
() ABCDE @ EBD,A,C

B,A,C,D,E
Give the chronological order of the following events in
A.  Launch of Rohini- I Satellite, N
B.  Pokhran-IT test. N
(& Establishment of Indian Space Research Organization.
D.  Establishment of Bhabha Atomic Research Centre, ~
Choose the correct answer :
@)$eA,.C,B,D 2 . D,CAB @) CDAB-* @4 ABCD
g58AH 28) Boros® & (Bob Ko SOEEHITO aS0a.
A B -1aDUS H@EeKo
B.  grS-I06g
C  gro80H eosby $5688:5:S S0 P —
D. arer om0 $08%55° oo dome —
B8 233Pe0) DoHE S ¢ @)
(1) = 'AZC,B,D @ D,CAB @y .G DA B @ A,BCD
Which vitamin deficiency causes Pellagra ? - 5
(1)  VitaminD )] ngcm (Vitamin B,) »
(3) Vitamin A (4)  Vitamin By
D DM o S Dl (Pellagra) 5B Senro: ? N
1) D&WSD ) K)Cﬁm%:s (DS By)
B) JLWSA @  DoDS B,

X [x2]
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At what temperature liquid water is more dense ?

@ ©°C @ 100°C @ 4«C: @ 3cC
O aYPS S (8508 DS rolEses KO eoe»oa ?
1 0°C @ 100°C " @ 4C @ 3C

Dr. Verghese Kurien is known as the archltectb "

(1)  Yellow Revolution (_2) Blue and Gold Revolution
(3) PinkRevolution

é(fi)l_:5 White Revolution
& 800 T&S°, oo SBS HBAHS B8 &boa'SS’)m BRG Bowrtd ?

(1) SH S0 (Yellow Revolution) (;) Deo HHBEm worrdd o (Blue and Gold Revolution)

@) ©od %o (Pink Revolution) @) %S 9%Bo (White Revolution)

In the “Intensity-hue-saturation color coordinate system”, used in remote sensing applications, what does
saturation represent ?

1) Bnghtnesg of a color (2)  Wavelengthofacolor ¢

(3)  Frequency of a color (4) -.. Purity of a color

L&e8 (Hfeea0 (remote sensing) @GS aa&rﬁo;ﬁ 20BYS- s -FHBES Kob e dgo (Intensity-

hue-saturation color coordinate system) &* (oc';i%;:é 3D $r2%00 ?

(1) Boid @) (Ps°F0 (Brightness) (2) | Botd Gw) $BoK38 5 so (Wavelength)
B) Bord GwE) FK:HI50 (Frequency) ?)

< Bt Go¥) Be$)$ (Purity)

Which of the following is correct from the smallest to the biggest on the length scale ?

A, 1pm B. 1nm AN s WEs 20T am _ D.. = 1fm

Choose the correct answer :
(1) C<A<B<D 20 C<D<A<B (3 B<A<D<C 4 B<D<A<Cs
Bod &, EAG Kol KOG L Sod HONS (ES008® $8FosH D& ?

A 1pm B. 1nm @ Tam D. .« <1 fm

8B 22a7enid DOHEIKW :
(1) C<A<B<D (2 C<D<A<l§f--f

@) B<A<D<C @ B<D<A<C

The Microorganism that performs the natural photosynthems is:

(1)  Protozoa ° (2) ~ Cyanobacteria

(@) Virus (4) < Fungi

Sves Bseaesisy DoTPH(EAD e wwé@é»e»

(1) @*&ar (Protozoa) (g)i 23 erB0aie (Cyanobacteria)
() 36D (Virus) @)  8dolgren (Fungi)

X [13]
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Which of the following statements about Bt-Cotton are correct ?
A. Itisa transgenic insect resistance crop.,

B, Itwasdeveloped against Bollworm pest. ' e .
C Itwas developed by Monsanto (USA) and Mahyco (India) for commercialization in India.

D.  After numerous studies on Bt-cotton the final a pproval forcommercialization was granted in 2002,

Choose the correct answer !
(1) AandB only (2)  A,BandConly -

- @) ABCandD (4)  AandDonly

Bt-588 Somofod 8o Tesod® DD HO@BD ?

A wd el a0 Bok 08ty sow,

B @B &' (Bollworm) Broentss 5680 whs)s Sabelod,
G EdYst s 5550 A0 AnSeort (USA) 5:6859.58°8° (India) w88 S,

D B8 dots 6 wisgamre dtomis 2002 6 TRdEEHD $6 wArto ofodos.
VB BTRH JoHE K :

D ASBan B s

2 A, B%08din C sm(@sdh
@) ABC%0s»D

@) A0 D S @
manufacturing of aerosol sprays are :

B. non-flammable
D. water soluble

Chlorofluorocarbons (CFCs) used in the
A, non-toxic

C non-reactive
The correct answer is:
(1)  A,BandD only
@) A,B,CandD 4)
DE'NES Ryo Sairbet as@mnod Seseieys,
A DRBBPEED (non-toxic)

(2) A,BandC only '
Aand D only

B.  %0&829 (non-flammable)

C  Bcsrdos 829 (non-reactive) D.  J86° 858D (water soluble)
IV JErGrSo :
1) A B%0dm D Smi@ @ A BS8din € Zngd

B3) A B,C%BdwD

Arrange the major earthquake disasters in |
(1)  Kashmir, Latur, Gujarat

@) A0 DS

ndia after 1990 in the chronological order :

(2)  Gujarat, Kashmir, Latur

()  Latur, Gujarat, Kashmir . (4)  Kashmir, Gujarat, Latur

1990 8058 gr88E506® S0asDons (Soms etrgos DBHOD SoESrHI0 ©50F)04.

(1) =48, oodrB, e (2 e, 45, eris8

(@)  rErE, a0, =48 @) &8, oaoe8, eriirE

Which of the following are greenhouse gases ?

A.  Carbon dioxide B. Nitrogen

C. Oxygen D.  Nitrous oxide

Choose the correct answer :

(1) AandB « (2) CandD ) AandD (4) BandC
Bob & DD ASHFS (greenhouse) arcsnen ?

A S Zus\E B. RS

C  of@s D. B8 e3&

B e3renidd DoHE KISy ;

(1) ASBHB (2) C&BaswD ®) ASBswD (4) BSd»C

S
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Match the types of lakes with their characteristics :
Lake type Characteristics

A gﬁstmphl}(l:i L Moderate nutrients, can support biological activities
B. e gOthhic IL Full of nutrient:,ii;ZE—Ser is murky and unhealthy
el - eSOtr;f c L. Also known as}l&ﬁiic lakes, full of humic and organic substances
D. utrophic IV.  Very low or no natrient, water is healthy
Choose the correct answer : Y3
1) A-], B-1I, C-III, D-IV ) A 'IETL C-IV, D-IIl
@) AJTLBIV, LD @) AALBIV,CII,DI
FoHo S50l T8 ofEres® adsty)v. 2
o B8o o¥eren .
A &S (Dystrophic) L D83 den, 4 Sowots setsserdred Srbmod
B £OMRE Oligotrophic) I sr0dhsen, S Swb8m 50050 oTErigoRIo
C  DREBSE I s5osgos (humic) $85 Holfch Smgpod® QoBD, Frgds
Sokien ©d S5 HOOFW
D. oS V. oeee st Bor Db 8, D eBrigEo
$33 JErEER0 AYES0l :
(1) ALBILCIL DIV 2
@) AILBIV,CLDI @  AMILBIV,CII, D
The Biological Oxygen Demand (BOD) value in ppm o oiire water and highly polluted water respectively are
(1)  less than 5 and higher than 17+ (@)  higher than 17 and less than 5
) 2and5 (4)  17and higher than 17

BHi5 DO 2B w508 seeniy DB 435 o8yed &é}vo@m Denden ppm &° SEIM :
(1) 5508 S Hoa 17 $oB dNF () 17688 o 5000 5508 S
@) 175555050 17 $o8B IS

() 2%0aw5
Which of the following chemical(s) has(have) the longest Atmospheric Lifetime ?
1) Chlorofluorocarbons (2) Halons

Methy]l chloroform »

(3)  Perfluorocarbons @
(Bod & BIRraDI0 (BrcSaren) HEND Ersben £98 seoo (Atmospheric Lifetime) $9A éoévod/aotron ?
1) éﬁ‘@@sﬂﬁgsﬁ) (Chloroﬂuorocarbons) @ &) (Halons)

3) $696°s*5)R) (Perﬂuorocarbons) @) @R@%ﬁ&%"o (Methyl chloroform)

gical Diversity (CBD) was firsfoEieéned for the collection of
()  United Nations Conference on Human Environg\gen?, 1972

(20  United Nations Conference on Environment ané’;_?éyelopment, 1992

(3)  United Nations Conference on Sustainable Dev%}ggfnent, 2002 ¢

(4  United Nations Security Council Session, 1990 {;
£53Dt B3y g0 (Convention on Biological Diversity, Cl‘?oD)
(1) S8 Somsptmop WSOk 348 =508, 19720
(2) . SoesEBno SO ©PHF SRBE J4T) PN, 1992

(B) RO LHHTR SoPBE 34T s°F)BRY, 2002
@) cwRBE I8 e 2050 AN, 1990
X [15] pro.

The Convention on Biolo signature during :

B HoBE HEBEBEs PO Fotsd (DBodoseldSe ?
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Identify the correct statement(s) : Y
A.  Richterscale does not measure the energy released by earthquake. RERRELIRY e,
B.  According to modified Mercalli scale, an earthquake with intensity sca

severe structural damages.

The correct answer is : —
(1) Aonly- ~{2) B only
(3) BothAandB (4) Neither A nor B

Bod argases® $BS aegmsko QoS08
A grSodo Toe Didedly S8 655 375 )

i
B. {58003 8 pen (modified Mercalh scale) [©s°80, B$S V, Joyero mosﬁ Er8S BB gSoHom

HBKBoStHH08.
{83 Joegredo :
1) ASPESDH (2 B&rSD
() AXoBsSoBBotr (4) A0DBSS» BBorr 50

Consider the following statements :

A.  Belarus shares boundary with five countries.

B. Kiev is the closest neighbour capital to Belarus in terms of distance.
G Minsk, the capital of Belarus is located on-the banks of Pripetriver.
D. The Belarus - Ukraine border is located in Polesian Lowland.
Which of the given statements are correct ? { -
(1) A,BandConly ¢ () BandDonly
(3) B,CandDonly+ _@ Aand D only
Bod aegasess $8KBoSoR. I~
BOER B0 $5 SOLE 0t 3508 505H%0008.

B.  &rSo Storr, BersSs, 85 aror 5805065 b tramrd $Kto.
C  BoER Taprd eandindod HST), B 58 dsos DH.

D, Bordd - eEowS 8057 &rdRoHS 6%ty @rosos® H\0.

D T’ $3:59 80508,

(1) A, B308cs» C &g (2 BB D SmEDH

(3)  B,C&B0%w D 5m(gdh ) A%0a% D

>

Consider the following hills of North-east Indla
A Miri hills B. Mishmihills;} C  Dafla hills »

Abor hills
Which of the following is the correct order of the above given hills from North to South ?
)G BAD 2)aisAB,CD ¢ ®).. B,AD,C* @ BD,AC
B grE8 B0 (8ob Fored 0)6115‘50:;50&
ALV PRI OURD B dRSotDd) C &3k Fosen D. &6 soren
806 BS° 6o H08 e B i 036'2;6& oo @ng) B3 B0 6 ?
1 CBAD @ ABCD @) BADC @ BDAC

X [5e]




9% éém{_éé)oé‘ ©30%)08 :
A  D060R sSwEo  B.

3B/ 2TPENN DOTHE DR :
(1 BDCA )

Ramsar Wetlands
A Nanjarayan Bird Sanctuary
B. Nakti Bird Sanctuary
C. Tawa Reservoir

Choose the correct answer :
(1) A-LBICIIL DIV
(3 AV,BICLD-II-

oroh8 Dé& =)

J0esBASrS DY, Slalevele i)
58 3§ egicirego

TP z2erIdho

©08IB0E B§ BovEe Oty

:oBa’: JBIPERPISDH D0HS 0w :
i (1) A-LBILCII,DIV

s 9N W p

@) A-JIV,BIL,C1DII

61. Consider the following pairs:
Geographical Indications (GI)
A Chunar Glaze Pottery
B.  SikkiGrass Craft
C.  Bidriware
D.  ChanderiSarees

(1) AandConly
(3 A,BandConly
808 e HOKBoHE :

Y% LrDsen (GI)
A HERE Py
B. 28 (% 58
C Ho3b6
D. 3o3b >6%

P T8 DD Sorp adSGpbIon ?
(1) Amcanc:m@s:-b
() A, BBdn CSmED

ET

to eastward direction :

A Bering Sea B. Barents Sea
Choose the correct answer :

(1 BDCA 2 CDb,BA

008 Sdmo  C.

CD,B A
60. Match the following Ramsar Wetlands with their respecﬁire_istates -

D. Ankasamudra Bird Conservation Reserve V.

59. Consider the following Seas surrounding the Russia and arrange them in sequential order from Prime Meridian

C.  LaptevSea D. KaraSea

©) ﬁ;ﬁ’B,C A- 4 ABD,C

835 B¥0 DHexp 6 (Bod SdmErets J0KBoD Ko MSTLQS) 28BS (Prime Meridian) £08 $r6y) 6%

D. o 5080

(©) D, @@ ABD,C

«~State
L  Karnataka
IL Madhya Pradesh
.  Bihar
Tamil Nadu

(2 A-LBICIV,D-II
@  AJV,BI,CII,DI
& (808 TroR5 28 Jood 8 @) Tlapes® aéiﬁdﬁoa&—_

< BB

@) ALBOLCIV,DI
@  AIVBH,CILDI

States

Bihar

Assam
Karnataka
Madhya Pradesh

Which of the above given pairs are correctly matched ?

(2 CandPronly
@4 BC: '(TDonly

ooepen
APV oo

sotfy (638 <

@€ 256050 D Sr(ED
@) B, C50c DImED

X PT.0.
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Arrange the following states in descending order in terms of production of Jowar in India (2020-21) :

A, Karnataka B. Maharashtra C. Tamil Nadu D.  Rajasthan
Choose the correct answer :

(1) ACBD 2 B,AD,C-> @) B,CAD 4 ABCD
PEETI0S® &% aHF (2020-21) HBorr 8ad Tlefoid 0585 [E08° el :

A Soves B. Sy .0 C S D. vwa¥S
ST 3TE0 DoSHE Koy |

(1) ACBD @ BADCJI} @ BCAD @4 ABCD

Consid.er the following two statements as per t_i\e Telangana Socio-Economic Outlook-2023 :

Assertion A : The Gross Sown Area (GSA) has been tremendously increased after the formation of Telangana
State from 131 lakh acresin 2014-15 to 198 lakh acres in 2021-22.

ReasonR: This increase in Area 15 mainly due to the planned investments in new irrigation projects,

revitalisation of existing irrigation systems and systematic procurement mechanisms

: implemented by the Govathment.
Choose the correct answer : "

(1)  AistruebutR s false.

(2)  Both A and R are true and R is the correct explanation of A.
()  Aisfalse butR is true.

(4)  Both Aand R are true but R is not the correct explanation of A. o

Soorres E)véuvesé—esgé T5en§-2023 (580 80 (D850 H50KBoSoA

V&I A: Beorres O DGAS SSae 2014-15 &° 131 OFL dEoeen &) Sowe Jre (D85) 2h%o 2021-22
T8 198 Fp oo B 2OAOE.

S0mo R: - DJBos® & wthrdise Sersord £ I8 Foiso (Faghest BerBsagBs Digotom, a)BE ek
A8 Fsse :,segasgo :@é&cgzsea Sa0akw (H4h80 een B2S Lééﬁoaté@_n:é V8B grare seBmonT
2Bhob. &

BTN 230D DoHE K :

(1) A0 529 R éa’)y. o

(2)  A®0a» R0t dao H6din R w38 A

() A&5y s*dRJzo0. I
4)  AOd» RBotr dzo 50 R oR6 A &bS) S0 D5 s,
Which of the following statements about the earth’s atmosphere are correct ?
A.  Theair temperature at the tropopause is more at the poles than at the equator.
B. The coldest temperature anywhere in the atmosphere occurs in the exosphere.
C. The temperature in the thermosphere can reach more than 1000°C.
D. In the stratosphere, the temperature first decreases with height and then there is sharp rise in temperature
upto stratopause. ;
Choose the correct answer : -
(1) AandConly ~—(2) BandDonly .
(3) Band Conly .4 AandDonly
&P TEPSBer8 Sowood & (8od a*gaoéoesf D BBGDoSD ?
A (D etodn S MO @0 eSHKE, ¢ DD S ol T 5 ST Hoenod.
B. ordbmod’ MR 08 $55 aPBS 8% eSvesn Soth Hotra,
& 66‘2 ©58e50’, o rden 1000°C %08 QENSIT Hoermom.
D. @%S‘S ©S5BesnS®, Swoire Sty [t SVESEAEY 53@5"05 8D, SoxE grdrr BrEea.
(%) - =

b Y

BBS 2357720 DOLHE W : :
(1) A8 C S (2) B0das» D S
(3) BoBcsm CSw(ED @  AHBAD D SHEDH

X




| . According to National Family Health Survey-5 (2019-21), which of the following state has higher under-five
" mortality rate than India’s under-five mortality rate ? 2 ;

1) Meghalaya (20 Tripura 3) Assam (4  Manipur i

B Hevor eB $05-5 (2019-21) (B0, &8 §oB TEEes® D T°Ho, B Sobere Bén (08 S0

£ Deos®) ETm M e Tk (9t SoSEP %) dped’) 8N HHO-

1) Drecd @ B3 L) e @) SB35
66 Gatmala Range in Telangana traverses through w}j;iéiﬁjarstwhile district of Telangana ?

(@ Khammam () Karimnagare “-{3) Adilabad (4) Warangal
Boorss™ $E9er (38 Boorrmre®d O Frigd dep tbone JthEod ?
1) @ &BoxKs @) sbowb @ SBoKS

67. Consider the following locations of iron ore mines m iﬁdia :

A  Bailadila B.  Ratnagiri C.  Kendujhar D. Ballari
Which of the following is the correct arrangement of the above given locations of iron ore mines from east to west
direction?
@ GCADB @ ACBD: @) ACDB 4 CBAD
rE5B%08° &2 (Bob 2D rY Kide ol $ordosos :
A pobe B. 5§06 C  BottyE D. owmp
25 aQ)d 3B HY Khe PTod Erdy) Hod-BEHS B, 058865, & (808 D aaran JVIB ?
1 GCADB @ ACGCBD J® ACDB 4 CBAD

. 68. Which of the following statements about river Yam;g;é are correct ?
A Yamuna has its source in the Yamunotri glacier; on the eastern slopes of Bandarpunch range.
B.  Yamuna isjoined by the Chambal, the Son, :tﬁe Betwa and the Ken on its right bank.
C  TheHindan, the Rind, the Sengar and the Varuna join Yamuna on its left bank.
D.  Yamunariver earlier, had westward flow but Jater it avulsed eastward to its present course and joined river

Ganga. i
Choose the correct answer :
(1) AandBonly (20 Band Conly
(3) CandDonly (4 AandDonlye

% (Bob mged® chinTe $68 $owofod DD FB@SD ?

A cHiEmae 56 Gnk) e S0, DomrEHoS [Bewe &1t Twes® IS HEFSE SIS HHB.

B. ahdmar 56 H8 8508, Somd, K8 Hdakn B Sthen Seoxaw.

C  chdoar 56 s BBod’, &rowes, 808, DormrE HHBd S Sthen Seoom.

D dhsom $6 Snid S0 (H55m00, SETE RS (ST SN 5B (Sardeorr, Korrsas®

Eend)B.
885 225208 HoHET S LY
(1) A%Bcs B&Sw(E$ah @) L_BHoBas» C&w@d
(3) CoBdsw DSwB 4) A8 D Sl
| 9. Which of the following country does not have the bduhdary with lake Tanganyika ?
(1) Zambia (2) | “Democratic Republic of Congo
(3) Tanzania s (4) { Rwanda
808 86 O B8 eromrgEse 368 SOy Bt ?
(1)  erodcir (2 BIFEABE 6548 «f seoR’
()  oroedsm (4) o=or® (Rwanda)

! X P.T.0.

S RS S R
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Arrange the following set of districts of Telangana in descending order in terms of percentage of total cultivatoy
to total workers as per 2011 census.

(1)  Vikarabad, Adilabad, Kumuram Bheem, Nagar Kurnool

() Kumuram Bheem, Nagar Kurnool, Vikarabad, Adilabad

(3)  Adilabad, Vikarabad, Kumuram Bheem, Nagaﬂ:ln:(:

4 Nagar Kurnool, Kumuram Bheem, kaarabadr- abad ¢

(20)11 ami B%o (Bso8o, & (8ob Booree aesw Eéa;(» Sndo 964&:06‘ Ao FIHErde T80 Thm
O3B [E5008® ©s)0d.

1) dseoeers, wherers, H$nso DS, K6 éd:g)\&i
@ HIBo Y, K6 KM, DTS, 96@&?5—5
B) wberer, dsroeers, Hswso D, ooKs é&gé;
@) b S5mS, Hswso HS, Dsvorers, wberrE—

In which among the following erstwhile districts of Telangana, a part of Nallamala range is located ?

(1)  Karimnagar 2)  Adilabad (3) Mahbubnagar » (4) Khammam
Spe (Benos® ol grKo Beoorre ovéoé‘:o & (BB @ LR ae;g,és &od ?

(1) g8osiKs (2 ©derers (B) SoPerdSnd 4 3o
Which of the following tribes do not belong to the Hnnalayan Region of India ?

(1)  Apatani » (2) Chang _(3)‘ Bhuiya (4) Tharu
Bod &S grE8E805% Srsrech [Fomds Bod%) BK o6 ?

(1) o3 (@ =oh @ oo
Consider the following locations :

A.  Eilat/Elat B.  Haifa € TelAviv D.  Ashgelon
Arrange the given locations from North to South duecbon and choose the correct order :

(1) A,BD,C 2 ADCGCB:- (3. CBA,D 4 B,CD,A
808 8 Gn¥) 0wt $6rBoN8. ;

A ooS/acs BE A AGPor el 1 C 85§ D. eXeS
BETB FIB0K BFEED HH0D BrENSD 08 BOFOS (ELrR) DoHEKozkm.

(D)2 =ATBD, C @ ADGCB ® GCBAD @4 BCD,A

Agatti and Bangaram Islands belong to :
(1)  NorthAndaman (2)  South Andaman. (3
o B oo &gdren B8 JobE :

Lakshadweep (4) Maldives

() &85 eotseS () B wokSeS 43)' S @ srhve

Norwesters are dreaded evening local thunderstormsr which occur during hot summers are locally called in
Assam as : S

(1) Kalbaishaki (2)  Bardoisila » () Loo 4)  Purbaiya

ORI (@rodubore Fod Fdhoseeress aém)éeatbaéoé FOHoEERH ad:émogs Er&S O meden.
(Erodaborr HBI oo DD Heoedd ?

(1) sSBX8 2 eonder B er @)  HBeairg

X




= TS

o

76.

78.

79.

ETL

Consider the fqllowing statements with reference to the scope of Sri Rama Sagar Project Stage - II:
A.  Excavation and Lining of Kakatiya Main Canal from 284 km to 346 km.

B.  Formation of Mylaram and Bayyanna Vagu Balancing Reservoirs.
Choose the correct answer : e A
(1) Aonly (2 Bonly (3). BothAandB. (4)  Neither AnorB

o> AT e - 113 58 5068 Sowogods (Bob.@Eese SorBoHos :

A SEBGD B8 Sens EgEo BAsn BAOR, 281 8.8y, K008 346 8. 5. SE.

B.  $horSo oy aai) b engBoR SeomadBes dovtn Babio.

$BS 23Toe DOSHEKS : L)

1) ASHED @ BiwsH (3)) A%Ba»BBorr (4) ASBaS» BBokr 2%
Arrange the following events concerning Indian N aliii:ona;l Movement in chronological order.

A.  Khilafat Movement ‘B e

B. Resolution to fight for Purna Swaraj .

(g Lucknow Pact between Indian National Congress (INC) and the Muslim League
D. The Communal Award

Choose the correct answer :

M ABGCD (2. B.AD,C @) CA,B,Dr @4 D,CBA
58 FYFOF T8 Somogod (Bob Hosnbess SEER0S® eryn.

A DTHE egdoo

B. Y orego S8 oeiderda dooyso i

C  gr08 80 oS (9A5D) b Swfo R Sy ©8Y asjoto

D. S50536 o

V0N 23a°e0D QoHEKSW : i3

1) ABCD (@ B,A,D,C @7 CABD 4 D,CBA

“Ramakrishna and Vivekananda are two aspects of;'tite same life, two forms of one truth. Ramakrishna was the
concept and Vivekananda appears as the explanations.” Who made this remark ?

(1) Rabindranath Tagore ¢ (2) “Pr:S. Radhakrishnan

(3)  Ramdhari Singh Dinkar (4 | RC Majumdar

‘T SoBcd DIseR0Y 2.8 £DTEIE BodS BoiSigosren. &8 Vel Both Erdren. ToEE)Y ol grSy.
B0t 28 DSBeaer EIDXD.” B TEgeD BROBI ?

1) Sdogers o6 @ o S.TeERS

B) ovSped doh &8s (4 R.C HoerSwrd
Match the following :

A.  Ananda Mohan Bose L East India Association

B.  Viraraghavachari I.  Indian Association

C  KT.Telang II.  Madras Mahajana Sabha

D.  Dadabhai Naoroji IV.  Bombay Presidency Association

Choose the correct answer :
(1)  A-LBI,CII,D-IV (2 A-ILBIV,CJI,D-II »
(3) A-I,B-II,CIV,D-I ' 4) ’:A—I,"B-]]], C-II, D-IV

& (80B TP 238HBHXW. i

A slol eSS &% L &S 20807 oRfdahsS

B. dorsnseed L 208098 oVFRIDHS

C 3.8 8woh O Sleed 50555 965

D. ororgron &R IV.  orod (RREJ)eDRALIS

WBS e3aen DoHE KW :

(1)  A-LBII,CI,D-IV (@  AJLBIV,C1,D-I
@)  A-LBI,CIV,DI 4)  AJLBIILCI, DIV

X ' a1l - pro.
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Consider the following statements : e
ter with police ina public park a¢ o
A Chandrashekar Azad died on 25t February 1932 inanencoun uaha%

jab.

B. Surya Sen was associated with the revoluhonarymovement in Punj

Choose the correct answer : £

(1) Aonly @) Bonly

()  BothAand B (4) Neﬁher AnorB ¢

Bod @B ES0% $8KBoSA -
5 eerd S8

A B30, 19825 eoserEe’n 598 s @Gbme etomepd’, Soidw e,

B. o g esgsoat Sy DS Sowoo EOA- aagcb

BN aszeenisy DOHE oKW : . W

1) ASwsS 2 BSHSD

@)  ADBamBBoe @) ABds B30k 522

“The Age of Consent Bill’ in 1891 sought to push the age for consummation of marriage for women from
1) 10to12 2 10to13 3 10tol4e 4) 10to15

VB HaHiiy) Hexy’ (The Age of Consent Bill) 1891 66 @o Darse BBFEE SADXYD D08 A%y Kol do§
SN Domred %808 ?

(1) 102008 12 2 10508 13 4) 10X008& 15
Identify the wrong pair :

Tribe Folk Dances
(1)  Bodo - Bagl\lrumba
(2 Gond - GaddiNati + =
(3)  Santhal - Budigali i
(4)  Gujjar-Bakerwals - Mangho
RB0PR 238K MHBoHEw

AbxS 8 PIDE {)Bgesn
@ &2 - er%on
2 /oo - HE
(3) Koz - avlatats) o @
@ Hgb-o8breen - Swof® ‘ N\

When Gandhiji was marching to Dandi during Civil Iii;’obedience Movement who led this march on the Malabar
Coast? Lt

(1)  C.Rajagopalachari (2  K'Kelappan

(3)  P.Krishna Pillai . @4 V. GOpala Krishnayya

TR QoS e $ahos® rodd Kol JiainE 3&26&3)(3} Doerl Bos® & cirEH S5 A
He&rowedd ? <

(1) Coeftarood 2 K3oHS
@) P.53 % @) V.A%e ggans

X [22]
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TES o sanunGil DIrVANI AAN =) nieken 1 nreyr

Consider the following statements :

A &he Ahmedabad session of Indian National Congress (1921) withdrew its stand on Non-Cooperation
ovement.

B. Gandhiji wanted to start civil disobedience movement in Bardoli.
C. Gandhiji wrote to the Viceroy to release the political prisoners.
D

The Ahmedabad session of Indian National Con%ress (1921) authorised Motilal Nehru to take appropriate
decision on civil disobedience movement. ( o

Choose the correct statements : £i5
(1) AandDonly @ B é‘n&c only

() A,BandConly @) B‘jc‘agdoonly

8o (HELI0K HoKBoSod ’é

A 58 B SOl eres $ErEdo (1921) o HHF VB 550 $5 ©fFard (stand)
AB0FO0E Y.

B. wS:beSs mofd @65590{335‘5(523&’»0 (BrBodomrerohTi.
oresdad Bhowd Do JaH% modd Prans Toad.

D &58 erBod S0 eimmrerl $Era¥o (1921) 68 sSPyosdsnop 188 dgabo SHEs efsedo
IrderS JHTH aY)od.

8BS [HELPOD JoHE KK : RN

(1) A0S D Seigd (2) BBk CHom(ad

(@) A, B0csn CEmEdD @)  B/CBus D Sl

The earliest rock paintings in Telangana are located affw'h;ch among the following places ?

(1) Utnur - (2 Padugonigudem (3) Sanganompalh (4) Kotilingala *
Boorrns® &9 0o8 FEBparen MHE aTow ? CO

(1) eemb Q) BORANTGEo ) @ s&vorre
Identify the wrong pair :

(1)  Sahasralinga - Pillalamarri « (20 Ekamukhalinga - Alampur

(3) Chaturmukhalinga - Kaleshwaram (4)  Panchamukhalinga - Warangal
JOPR a3 1HBoSod :

(1) JEEROoro - 1y @ Eswpdorfo - voolyrd
(@) SEdyedoro - sBHLo @) HoSsnpdoro - SvorS
Identify the incorrect pair : , P

(1)  Balinjasetti - Trading caste "~

(2) Asamkhyatulu - Saiva Priests 'i_r )

(3) Sani-Munnurvurus - Agricultural labour

(4) Mabhajanas - Brahmans living in agraharas

$OSPR a8 B0 CO

(1) odond§ - TPER5 Heo |

Q) edogrgen - 3 Gretoen

@) Q-Bwdomdoen - S55Rech Erden

@) SoFesdoen - eFE5nS® DSROT (EryEned

X [ 23] P.T.O.
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Consider the following statements :

A. Kutuhala wrote ‘Lilavati’ in Sanskrit.

B. It describes the marriage of Hala with Saka princess.
Which of the given statement(s) is/ are correct ?

(1)  Aonly (2 Bonly - ®)
88 (S0B TgmgoR $BKBoDHS -

A SHESven 00 )850E® Ders®’ 9 DB

&gboéa&o&

B % 5556° Seod @) Dot K ooisin0 st =0N56R D

R Tmsed® 36/09 ¥358(9) ? —

1 AseESH @ BswEH (B) ASBamBToLr (4) ASBd BBokr =

Consider the following statements

A A Buddhist stupa found near Pashigoan village was built in Limestone.

B. Kotilingala was an important Saivite centre during the early Satavahana period.

C*Y In Phanigiri, the Mahastupa was built of bricks, CO

D.  Kondapur wasa political centre during the Satavahanag}:)'eri;od.

Which of the above statements are correct ?

(1) AandB only (2 BandD ol;ly"“‘

@) A CandDonly @ B,CandDoflly

8 (808 (HBS5SSS50eBH DOKBoHSm. 3

A >8mro 38 2ahends &G Jpdain ) Tans® ABosados.

B, &0 mdrvie seost, S8ome Swogg 33 F(so.

C  $BABsSY éaésé;::)é» B st dBjosaBod.

D.  Fomfrb sdarddhe sveos 8 Tesdad oo,

PR DO (D5S5508° D $¥JR8D ?

(1)  ABd» B Smgd (@  B&Basm D SmeEH

() A, C&00sn D SrEd @) B, C35o0cim DSl

Arrange the following in a chronological order of their comht{ééﬁﬁ -

A.  Daru’sh-Shifa B. Khudadad Mahal ~A  Husain Sagar

Choose the correct answer : : .

(): A'B@ @):. ACB () e B i 4 CA,B

(808 60 28D SOEERHITOSS o108,

A BES-8 B.  aoorered Sosed T 5008 K5

DB DErERSE0E oY ko

A): SABC 2  AGB ® CBA @ CAB
X =)

(4)  Neither AnorB




K

| 92.

93.

ET

Consider the following statements with regard to Mecca Masjid in Hyderabad :

A.  The construction of mosque commenced in the year 1614 CE.

B.  The construction of the mosque was initiated by Sultan Abdullah Qutub Shah.
C It was completed by Abul Hasan Qutub Shah in the year, 1685 CE.

Choose the correct answer : A

(1) AandBonly (20 Band Conly

@ Aonly (4 AandConlye

BTSSR 5% $oB5% Bowo§od & (8ob @83%5«6026} a&ﬁz%ofﬁo&

A SR Joueso 1614 CE &° (@:Sogidoomod. -

B. SoenS wepep H&E & 5 Joyeo (@EoHoB. -y

C oS &S HHS P BY 1685 CES® grg T, =7
8BS BPGRRRY BB : ~

(1) A0 BERED @)  B$0anC e
@) ASHED @)  A%oBdin C&ml@gad

Which among the following statements are correct with regard to the Muharram celebrations during the Qutub
Shahi period ?

A.  Muharram celebrations were intertwined with the grand Langar procession.

B.  Langar means a golden chain manufactured equal to the weight of an elephant.

C.  Alamis placed in a building of Dabirpura.

D.  Thegolden chain is broken into pieces and distributed among the poor during Muharram.

Choose the correct answer :

(1) AandB (2 BandD_

(3 A,BandD - 4 B, CandD

HHS Por sPeoTEd IFGo IHEeH $020§0D JTH @ééj:ﬁez& HBKBoSHSW.

A SodEo Iosen worb &iBRoHE HHEHondD.

B ©0KE 0S5 D ©@od atid EOAS Dorrss e,

C oo HEHEE5 el g55508° dosadod. <

D. SEnseo Stode BoBgomT & orrss) ek Snten- 5-3% Do SoBT.
385 asrensy EoRodw

(1) ABcnB (2) B&BaD

() A BB8d»D @) B C%0B&»D

The objectives of Telangana Internet of Things (IoT) policy, 2017 are :
A Toattract investments worth Rs. Ten Thousand Crores and generate direct employment to 50,000 people in

the next 5 years.
B.  Create 4 zones each in Medchal-Malkajgiri, Karimnagar and Mahabubnagar districts for deploying proof

of concepts (PoCs) in the IoT Space. :
Choose the correct answer : . N
(1) Aonly (2) Bonly (3) BothAandB*  (4) Neither AnorB

8oorre BoLT)E ©P §ofy) (IoT) Dgrdo 2017 OFFen : -
A ot b tosdTred® 56 Fo 8 Erarabo o)é.:oma‘w?éo e88oSE0, $oBAk® 50,000 H0bS (HS5Y

&arf ED)osKo. -
B.  grsse Qbrdem Solore (PoCs) D3Berdas 3)(5‘)6—&@3,&7&6 880815, TardSiKt grod®, a5

QS rentH Srotiereid (zones) DB)BSEO.

8BS $Ererso doslod
1  ASeESEDH @) B&wED (@) ADBASWBToEr (4) AOE®BBoLr soH
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